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nr| & [mm]| $[mm]| & [mm] Colli
E-1 1048 50 15| x2
E-2 510 50 15| x2 m
E-3 510 50 15| x2
E-4 510 50 15| x2
E-5 1016 570 16| x1
E-6 500 570 16| x2
=7 1086 614 16| x1
E-8 360 570 16| x1
E-9. 344 570 16| x1
E-10 360 570 16| x1
E-11 1048 202 16| x1
E-12L 520 202 16| x1
E-12R 520 202 16| x1
E-13 444 120 16| x2
E-14 350 120 16| x2
E-15 350 120 16| x2
E-16 476 356 3| x2
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nr| & [mm]| $[mm]| & [mm] Colli
E-1 1048 50 15| x2| 1/1
E-2 510 50 15| x2| 1/1
E-3 510 50 15| x2| 1/1
E-4 510 50 15| x2| 1/1
E-5 1016 570 16| x1| 1/1
E-6 500 570 16| x2| 1/1
=7 1086 614 16| x1| 1/1
E-8 360 570 16| x1| 1/1
E-9. 344 570 16| x1| 1/1
E-10 360 570 16| x1| 1/1
E-11 1048 202 16| x1| 1/1
E-12L 520 202 16| x1| 1/1
E-12R 520 202 16| x1| 1/1
E-13 444 120 16| x2| 1/1
E-14 350 120 16| x2| 1/1
E-15 350 120 16| x2| 1/1
E-16 476 356 3 x2| 11
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